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1. galk ijh{k.k fuEufyf[kr dh tk¡p gsrq fd;k 

tkrk gS % 

 
1. Hansa test is done to check : 

(A) xk; ds nw/k esa HkSal ds nw/k dh feykoV  (A) Buffalo milk adulteration in cow 

milk 

(B) nw/k esa LVkpZ dh feykoV  (B)  Starch adulteration in milk 

(C) nw/k esa ifjj{kh dh feykoV  (C)  Preservative adulteration in milk 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

2. nw/k ls thok.kq vyx djus dh fof/k gS % 
 

2. The method of separating bacteria from 

milk is : 

(A) fQYVªs’ku  (A) Filtration 

(B) LVsjhykbts’ku  (B)  Sterilization 

(C) lSfuVkbts’ku  (C)  Sanitization 

(D) cSDVks¶;wxs’ku  (D)  Bactofugation 

3. lh- vks- ch- ijh{k.k fd;k tkrk gS % 
 

3. C. O. B. test is done : 

(A) [khl ijh{k.k  (A) Colostrum test 

(B) olk ijh{k.k  (B)  Fat test 

(C) FkuSyk ijh{k.k  (C)  Mastitis test 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

4. nw/k dks 4°C rkieku rd B.Mk djuk 

dgykrk gS % 

 
4. Cooling the milk at 4°C temperature is 

called : 

(A) ik’pqjhdj.k  (A) Pasteurization 

(B) futZehZdj.k  (B)  Sterilization 

(C) vo’khru  (C)  Cooling 

(D) mi;qZDr lHkh  (D)  All of the above 
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5. nw/k dh izksVhu tks crZuksa dh lrg ij fpid 

tkrh gS % 

 
5. Milk protein that sticks to the surface of 

utensils : 

(A) feYd LVksu  (A) Milk stone 

(B) feYd dslhu  (B)  Milk casein 

(C) feYd QSV  (C)  Milk fat 

(D) feYd vk;ju  (D)  Milk iron 

6. nw/k dk vkisf{kd ?kuRo c<+kus ds fy, feykoV 

djrs gSa % 

 
6. Adulterants used to increase the specific 

gravity of milk : 

(A) LVkpZ  (A) Starch 

(B) ftysfVu  (B)  Gelatin 

(C) lizsVk nw/k  (C)  Separated milk 

(D) mi;qZDr lHkh  (D)  All of the above 

7. buesa ls dkSu&lk ifjj{kh gS \ 
 

7. Which of the following is a preservative ? 

(A) NaOH  (A) NaOH 

(B)  H2O2  (B)  H2O2 

(C)  H2SO4  (C)  H2SO4 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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8. [khl esa vEyrk izfr’kr gS % 
 

8. Acidity percent in Colostrum : 

(A) 0.2–0.4  (A) 0.2–0.4 

(B)  0.1–0.2  (B)  0.1–0.2 

(C)  0.4–0.5  (C)  0.4–0.5 

(D)  0.5–0.6  (D)  0.5–0.6 

9. ^nw/k p<+kus* ds fy, ftEesnkj gkWeksZu gS % 
 

9. Hormone responsible for ‘Holding Up’ of 

milk : 

(A) vkWDlhVksflu  (A) Oxytocin 

(B) ,LVªkstu  (B)  Estrogen 

(C) ,Mªsukfyu  (C)  Adrenaline 

(D) mi;qZDr lHkh  (D)  All of the above 

10. ekudhd`r nw/k esa olk vkSj ,l- ,u- ,Q- 

izfr’kr gS % 

 
10. Fat and SNF percent in standardized milk 

is : 

(A) 3-5 vkSj 8-5  (A) 3.5 and 8.5 

(B) 4-0 vkSj 8-5  (B)  4.0 and 8.5 

(C) 4-5 vkSj 8-5  (C)  4.5 and 8.5 

(D) 4-5 vkSj 8-7  (D)  4.5 and 8.7 

11. HkSal ds nw/k esa ikuh dk izfr’kr % 
 

11. Water percent in buffalo milk : 

(A) 83  (A) 83 

(B)  85  (B)  85 

(C)  86  (C)  86 

(D)  87  (D)  87 
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12. nqX/k lgdkfjrk dk lcls lQy mnkgj.k gS % 
 

12. Most successful example of Dairy 

Coopratives : 

(A) vkuUn  (A) Anand 

(B) y[kuÅ  (B)  Lucknow 

(C) djuky  (C)  Karnal 

(D) iatkc  (D)  Punjab 

13. nw/k esa vEyh;rk ijh{k.k fdlds }kjk fd;k 

tkrk gS \ 

 
13. Acidity test in milk is done by : 

(A) ySDVksehVj   (A) Lactometer 

(B) C;wVk;jksehVj   (B)  Butyrometer 

(C) H2SO4   (C)  H2SO4 

(D) NaOH   (D)  NaOH 

14. vewy Ms;jh fdl jkT; esa fLFkr gS \ 
 

14. In which state is AMUL Dairy situated ? 

(A) xqtjkr  (A) Gujarat 

(B) gfj;k.kk  (B)  Haryana 

(C) mŸkj izns’k  (C)  U. P. 

(D) egkjk”Vª  (D)  Maharashtra 

15. lcls vf/kd olk izfr’kr ik;k tkrk gS % 
 

15. The  highest fat percentage is found in :  

(A) nw/k esa  (A) Milk 

(B) ngh esa  (B)  Dahi 

(C) Øhe esa  (C)  Cream 

(D) eD[ku esa  (D)  Butter 
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16. nw/k esa vEyrk izfr’kr de djus ds fy, 

feykoV djrs gSa % 

 
16. Adulteration is done to reduce acidity 

percentage in milk : 

(A) vEy  (A) Acid 

(B) {kkj  (B)  Alkali 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

17. nqX/k m|ksx esa iz;ksx fd;s tkus okys crZu gksus 

pkfg, % 

 
17. The utensils used in the milk industry 

should be : 

(A) dkWij ds  (A) Copper 

(B) LVsuysl&LVhy ds  (B)  Stainless-steel 

(C) yksgs ds  (C)  Iron 

(D) ihry ds  (D)  Brass 

18. Hkkjr dk lcls vf/kd nqX/k mRiknd jkT; gS % 
 

18. The largest milk producing state of India 

is :  

(A) xqtjkr  (A) Gujarat 

(B) iatkc  (B)  Punjab 

(C) jktLFkku  (C)  Rajasthan 

(D) m- iz-  (D)  U. P. 
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19. MkW- oxhZt dqfjZ;u dk lEcU/k fdlls gS \ 
 

19. Dr. Varghese Kurien is related to : 

(A) ‘osr ØkfUr ds tud  (A) Father of White Revolution 

(B) Hkkjr dk nqX/k iq#”k ¼Xokyk½  (B)  Milkman of India 

(C) ,u- Mh- Mh- ch- ds izFke v/;{k  (C)  First chairman of NDDB 

(D) mi;qZDr lHkh  (D)  All of the above 

20. nw/k lzkfor djus okyk Ård gS % 
 

20. The milk secreting tissue is : 

(A) Fku  (A) Teats 

(B) ,yO;ksykbZ  (B)  Alveoli 

(C) yksC;wy  (C)  Lobule 

(D) xzfUFk flLVuZ  (D)  Gland cistern 

21. vkWijs’ku ¶yM dk lEcU/k fdlls gS \ 
 

21. Operation flood is related to : 

(A) ck<+ fu;U=.k  (A) Flood control 

(B) nqX/k mRiknu  (B)  Milk production 

(C) tula[;k fu;a=.k  (C)  Population control 

(D) mi;qZDr lHkh  (D)  All of the above 

22. HkSal ds 100 xzke nw/k ls fdrus dSyksjh ÅtkZ 

izkIr gksrh gS \ 

 
22. How many calories of energy are 

obtained from 100 gm of buffalo milk ? 

(A) 70 dSyksjh  (A) 70 cal. 

(B) 80 dSyksjh  (B)  80 cal. 

(C) 90 dSyksjh  (C)  90 cal. 

(D) 100 dSyksjh  (D)  100 cal. 
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23. nw/k ds ewY; fu/kkZj.k dh lcls vPNh fof/k gS % 
 

23. Best method for pricing of milk : 

(A) ek=k ds vk/kkj ij  (A) Volume based 

(B) mRikn ds vk/kkj ij  (B)  Products based 

(C) olk vkSj ,l- ,u- ,Q- ds vk/kkj ij  (C)  Fat and S. N. F. based 

(D) mi;qZDr lHkh  (D)  All of the above 

24. fLde feYd esa olk izfr’kr gksrk gS % 
 

24. Fat percent in skim milk is : 

(A) 0%  (A) 0% 

(B)  0.5%  (B)  0.5% 

(C)  1.0%  (C)  1.0% 

(D)  1.5%  (D)  1.5% 

25. ?kh esa dkSu&lk foVkfeu de ik;k tkrk gS \ 
 

25. Which vitamin is less found in Ghee ? 

(A) A  (A) A 

(B)  B  (B)  B 

(C)  C  (C)  C 

(D)  D  (D)  D 

26. nw/k esa lcls ewY;oku rRo gS % 
 

26. The most valuable element in milk is : 

(A) olk  (A) Fat 

(B) izksVhu  (B)  Protein 

(C) ySDVkst  (C)  Lactose 

(D) foVkfeu  (D)  Vitamin 
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27. olk esa ?kqyu’khy o.kZd gS % 
 

27. Fat soluble pigment is : 

(A) tSaFkksfQy  (A) Xanthophyll 

(B) dSjksVhu  (B)  Carotene 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) jkbcks¶ysfou  (D)  Riboflavin 

28. Vks.M nw/k lcls igys dgk¡ cuk;k x;k Fkk \ 
 

28. Where was Toned milk first made ? 

(A) xqtjkr  (A) Gujarat 

(B) js dkWyksuh eqEcbZ  (B)  Rey Colony Mumbai 

(C) iatkc  (C)  Punjab 

(D) jktLFkku  (D)  Rajasthan 

29. nw/k esa LVkpZ D;ksa feykrs gSa \ 
 

29. Why do you add starch in milk ? 

(A) nw/k dk vkisf{kd ?kuRo c<+kus ds fy,  (A) to increase the sp. gr. of milk 

(B) nw/k dh ek=k c<+kus ds fy,  (B)  To increase the quantity of milk 

(C) nw/k dh Hk.Mkj.k {kerk c<+kus ds fy,  (C)  to increase milk storage capacity 

(D) mi;qZDr lHkh  (D)  All of the above 

30. vk;ksMhu ?kksy ls fdldk ijh{k.k djrs gSa \ 
 

30. Test with Iodine solution : 

(A) nw/k esa LVkpZ dh feyokV dk  (A) Starch adulteration in milk 

(B) [kksvk esa LVkpZ dh feykoV dk  (B)  Starch adulteration in Khoa 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) nw/k esa ;wfj;k dh feykoV dk  (D)  Adulteration of Urea in milk 
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31. nw/k Nkuus ds fy, mi;qDr rkieku gS % 
 

31. The suitable temperature for milk 

filtration is : 

(A) 25–30°C  (A) 25–30°C 

(B)  30–35°C  (B)  30–35°C 

(C)  35–40°C  (C)  35–40°C 

(D)  45–50°C  (D)  45–50°C 

32. ;wfj;k ijh{k.k ds fy, iz;qDr jlk;u gS % 
 

32. For urea test the chemical used is : 

(A) Mh- ,e- ,- ch- ?kksy  (A) DMAB solution 

(B) H2SO4 ?kksy  (B)  H2SO4  solution 

(C) vk;ksMhu ?kksy  (C)  Iodine solution 

(D) lksfM;e ckbZdkcksZusV ?kksy  (D)  Sodium Bicarbonate solution 

33. ih- lh- Mh- ,Q- dk eq[;ky; fLFkr gS % 
 

33. The headquarters of PCDF is situated at : 

(A) djuky esa  (A) Karnal 

(B) xqtjkr esa  (B)  Gujarat 

(C) eqEcbZ esa  (C)  Mumbai 

(D) y[kuÅ esa  (D)  Lucknow 

34. xk; ds nw/k esa vkSlr Vh- ,l- izfr’kr gksrk  

gS % 

 
34. Average T. S. percent in cow milk is : 

(A) 8.5  (A) 8.5 

(B)  13.2  (B)  13.2 

(C)  14.0  (C)  14.0 

(D)  15.5  (D)  15.5 
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35. xk; ds nw/k esa lgh ySDVksehVj jhfMax  

¼lh- ,y- vkj-½ gksrh gS % 

 
35. Correct Lactometer Reading (CLR) of 

cow milk is in : 

(A) 26–28  (A) 26–28 

(B)  28–30  (B)  28–30 

(C)  30–32  (C)  30–32 

(D)  40–42  (D)  40–42 

36. 1 xzke olk ls ÅtkZ izkIr gksrh gS % 
 

36. 1 gm of fat provides energy : 

(A) 4-1 dSyksjh  (A) 4.1 cal. 

(B) 6-1 dSyksjh  (B)  6.1 cal. 

(C) 9-4 dSyksjh  (C)  9.4 cal. 

(D) 75 dSyksjh  (D)  75 cal. 

37. HkSal ds nw/k esa ySDVkst izfr’kr gS % 
 

37. The Lactose percentage in buffalo milk  

is : 

(A) 4.5  (A) 4.5 

(B)  4.81  (B)  4.81 

(C)  4.7  (C)  4.7 

(D)  5.81  (D)  5.81 

38. ---------------------------- ds nw/k esa lokZf/kd [kfut  

rRo gksrs gSaA 

 
38. The highest mineral content is 

................... milk. 

(A) xk;  (A) Cow 

(B) HkSal  (B)  Buffalo 

(C) cdjh  (C)  Goat 

(D) HksM+  (D)  Sheep 
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39. i’kq ds jax ij fdl foVkfeu dk izHkko iM+rk 

gS \ 

 
39. Which vitamin affects the color of the 

animal ? 

(A) A  (A) A 

(B)  B  (B)  B 

(C)  C  (C)  C 

(D)  D  (D)  D 

40. xk; ,oa HkSal ds nw/k dks igpkuk tk  

ldrk gS % 

 
40. Cow and buffalo milk can be recognized 

by : 

(A) jax }kjk  (A) Color 

(B) olk izfr’kr }kjk  (B)  Fat percentage 

(C) olk XyksC;wYl }kjk  (C)  Fat globules 

(D) mi;qZDr lHkh  (D)  All of the above 

41. fdl nw/k esa vf/kd thok.kq gksrs gSa \ 
 

41. Which milk has the more bacteria ? 

(A) igys nw/k esa  (A) In first milk 

(B) e/; nw/k esa  (B)  In middle milk 

(C) vfUre nw/k esa  (C)  In last milk 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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42. nqX/k la?k dk xBu gksrk gS % 
 

42. Milk Union is formed at : 

(A) xzke Lrj ij  (A) Village level 

(B) ftyk Lrj ij  (B)  District level 

(C) izns’k Lrj ij  (C)  State level 

(D) jk”Vªh; Lrj ij  (D)  National level 

43. ih- lh- Mh- ,Q- dk O;kikfjd uke gS % 
 

43. The trade name of P. C. D. F. is : 

(A) ijkx  (A) Parag 

(B) vewy  (B)  AMUL 

(C) enj Ms;jh  (C)  Mother Dairy 

(D) ikjl  (D)  Paras 

44. ikuh esa ?kqyu’khy o.kZd gS % 
 

44. Water soluble pigment is : 

(A) dSjksfVukWbM  (A) Carotenoid 

(B) tSUFkksfQy  (B)  Xanthophyll 

(C) DyksjksfQy  (C)  Chlorophyll 

(D) jkbcks¶ysfou  (D)  Riboflavin 

45. fdl jkT; esa izfr O;fDr izfrfnu lcls vf/kd 

nw/k dh miyC/krk gS \ 

 
45. Which state has highest milk availability 

per capita per day ? 

(A) m- iz-  (A) U. P. 

(B) jktLFkku  (B)  Rajasthan 

(C) xqtjkr  (C)  Gujarat 

(D) iatkc  (D)  Punjab 



Ag-3009 ( 15 )  Set-A 

46. ih- ,Q- ,- vf/kfu;e fdl o”kZ ykxw fd;k 

x;k \ 

 
46. In which year was the P. F. A. Act 

implemented ? 

(A) 1954  (A) 1954 

(B)  1964  (B)  1964 

(C)  1944  (C)  1944 

(D)  1934  (D)  1934 

47. fdl nw/k esa olk vf/kd gksrh gS \ 
 

47. Which milk has more fat ? 

(A) igys nw/k esa  (A) First milk 

(B) e/; nw/k esa  (B)  Middle milk 

(C) vfUre nw/k esa  (C)  Last milk 

(D) mi;qZDr lHkh  (D)  All of the above 

48. 20°C ij nw/k dh ‘;kurk gS % 
 

48. The viscosity of milk at 20°C is : 

(A) 1.5–2.0 lsUVhiksbt  (A) 1.5–2.0 centipoise 

(B) 1.0–1.5 lsUVhiksbt  (B)  1.0–1.5 centipoise 

(C) 1.5–3.0 lsUVhiksbt  (C)  1.5–3.0 centipoise 

(D) 2.5–3.5 lsUVhiksbt  (D)  2.5–3.5 centipoise 

49. fuEufyf[kr esa ls pcwrjk ijh{k.k ugha gS % 
 

49. Which of the following is not a Platform 

test ? 

(A) vEyh;rk ijh{k.k  (A) Acidity test 

(B) olk  ijh{k.k  (B)  Fat test 

(C) ,l- ,u- ,Q- ijh{k.k  (C)  S. N. F. test 

(D) fLVªi di ijh{k.k  (D)  Strip cup test 
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50. dkcksZfDlfyrd vEy ijh{k.k ls ns’kh ?kh esa 

fdldh feykoV Kkr djrs gSa \ 

 
50. By Carboxylic acid test, the adulteration 

of ................... in Deshi Ghee is detected. 

(A) i’kq pchZ  (A) Animal fat 

(B) ouLifr olk  (B)  Vegetable fat 

(C) fry dk rsy  (C)  Til oil 

(D) ukfj;y dk rsy  (D)  Coconut oil 

51. vPNh xq.koŸkk dk [kksvk izkIr gksrk gS % 
 

51. Good quality Khoa is obtained from : 

(A) xk; ds nw/k ls  (A) Cow milk 

(B) HkSal ds nw/k ls  (B)  Buffalo milk 

(C) Å¡V ds nw/k ls  (C)  Camel milk 

(D) HksM+ ds nw/k ls  (D)  Sheep milk 

52. Mcy VksUM nw/k esa ,l- ,u- ,Q-  

izfr’kr gS % 

 
52. SNF percent in Double Toned  

milk is : 

(A) 8.0  (A) 8.0 

(B)  8.5  (B)  8.5 

(C)  9.0  (C)  9.0 

(D)  9.5  (D)  9.5 
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53. nw/k dks nwf”kr djus okyk izeq[k dkjd  

gS % 

 
53. The main factor of contaminating milk  

is : 

(A) igyk nw/k  (A) Fore milk 

(B) Ms;jh crZu  (B)  Dairy utensils 

(C) Xokyk  (C)  Milkman 

(D) mi;qZDRk lHkh  (D)  All of the above 

54. Øhe dk miksRikn gS % 
 

54. Byproduct of cream is : 

(A) nqX/k s  (A) Milk whey 

(B) NkN  (B)  Butter milk 

(C) lizsVk nw/k  (C)  Separated milk 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

55. Hkkjrh; Ms;jh fuxe ¼vkbZ- Mh- lh-½ dh 

LFkkiuk fdl o”kZ esa gqbZ Fkh \ 

 
55. Dairy Corporation of India (IDC) was 

established in the year : 

(A) 1955  (A) 1955 

(B)  1960  (B)  1960 

(C)  1965  (C)  1965 

(D)  1970  (D)  1970 
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56. vkWijs’ku ¶yM dk igyk pj.k ‘kq: fd;k x;k 

Fkk % 

 
56. Operation Flood first phase was started  

in :  

(A) 1960 esa  (A) 1960 

(B)  1965 esa  (B)  1965 

(C)  1970 esa  (C)  1970 

(D)  1975 esa  (D)  1975 

57. nw/k dk gYdk yky jax fdlds dkj.k gksrk  

gS \ 

 
57. Light red color of milk is due to : 

(A) ikuh dh feykoV  (A) Adulteration of water 

(B) FkuSyk jksx  (B)  Mastitis disease 

(C) olk fudkyus ls  (C)  By removing fat 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

58. fdl i’kq ds nw/k esa foVkfeu&lh lcls vf/kd 

ek=k esa gksrh gS \ 

 
58. Which animal milk has the highest 

amount of Vitamin C ? 

(A) HksM+  (A) Sheep 

(B) Å¡V  (B)  Camel 

(C) cdjh  (C)  Goat 

(D) xk;  (D)  Cow 
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59. QkWLQsV~l] lkbVªsV~l] dslhu] CO2 vkfn ds 

dkj.k mRiUu vEyrk dgykrh gS % 

 
59. Acidity produced due to phosphates, 

citrates, casein, CO2 etc. is called : 

(A) izkd`frd vEyrk  (A) Natural acidity 

(B) fodflr vEyrk  (B)  Developed acidity 

(C) vuqekI; vEyrk  (C)  Titrable acidity 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

60. o”kZ 2019&20 esa ns’k dk dqy nqX/k mRiknu  

Fkk % 

 
60. The total milk production of the country 

in the year 2019-20 was : 

(A) 188 fefy;u Vu  (A) 188 M. T. 

(B) 198 fefy;u Vu  (B)  198 M. T. 

(C) 178 fefy;u Vu  (C)  178 M. T. 

(D) 187 fefy;u Vu  (D)  187 M. T. 

 

 

 

 

 

 

 

 

 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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